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$IUL�<XVPDZDUGL����������.RPSDUDVL�7LQJNDW�.HVHMDKWHUDDQ�5XPDK�7DQJJD�
7UDQVPLJUDQ� GDQ 5XPDK� 7DQJJD 0DV\DUDNDW�
/RNDO� 'L� .HFDPDWDQ� /XQDQJ� .DEXSDWHQ� 3HVLVLU�
6HODWDQ� �6WXGL� .DVXV� 1DJDUL� /XQDQJ� 6DWX� GDQ�
3RQGRN�3DULDQ�/XQDQJ�

3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHPEDQGLQJNDQ� GDQ� PHQGHVNULSVLNDQ�
WLQJNDW� NHVHMDKWHUDDQ� WUDQVPLJUDQ� GDQ� PDV\DUDNDW� ORNDO� WHQWDQJ� NHPDPSXDQ�
PHPHQXKL�SDQJDQ��VDQGDQJ� GDQ� SDSDQ GL�.HFDPDWDQ�/XQDQJ�.DEXSDWHQ�3HVLVLU�
6HODWDQ��

-HQLV� SHQHOLWLDQ� \DLWX� GHVNULSWLI� NXDQWLWDWLI�� -XPODK� SRSXODOVL� GDODP�
SHQHOLWLDQ�LQL�DGDODK�����..�WUDQVPLJUDQ�GDQ�����..�PDV\DUDNDW� ORNDO��7HNQLN�
SHQDULNDQ� VDPSHO� VHFDUD SURSRUVL UDQGRP� VDPSOLQJ VHKLQJJD� GLSHUROHK� VDPSHO�
VHEDQ\DN���� UHVSRQGHQ� WUDQVPLJUDQ�GDQ���� UHVSRQGHQ�PDV\DUDNDW� ORNDO��7HNQLN�
SHQJXPSXODQ�GDWD�SHQHOLWLDQ�PHQJJXQDNDQ DQJNHW GHQJDQ�VNDODO�OLNHUW�GDQ�WHNQLN�
DQDOLVLV�EHUXSD�IRUPXOD�SHUVHQWDVH�

+DVLO�SHQHOLWLDQ�PHQXQMXNNDQ�EDKZD������NHPDPSXDQ�PHPHQXKL�SDQJDQ��
UXPDK� WDQJJD� WUDQVPLJUDQ� DGDODK� VHGDQJ� GDQ� UXPDK� WDQJJD� PDV\DUDNDW� ORNDO
DGDODK�UHQGDK������NHPDPSXDQ�PHQ\HGLDNDQ�VDQGDQJ� UXPDK�WDQJJD WUDQVPLJUDQ�
DGDODK�WLQJJL�GDQ�UXPDK�WDQJJD PDV\DUDNDW�ORNDO�DGDODK�UHQGDK������NHPDPSXDQ�
PHQ\HGLDNDQ� SDSDQ� UXPDK� WDQJJD WUDQVPLJUDQ� DGDODK� WLQJJL� GDQ� UXPDK� WDQJJD
PDV\DUDNDW�ORNDO DGDODK�VHGDQJ� .HVLPSXODQQ\D�WLQJNDW�NHVHMDKWHUDDQ�PDV\DUDNDW�
WUDQVPLJUDQ� WHUJRORQJ� VHMDKWHUD� VHGDQJNDQ� PDV\DUDNDW� ORNDO� EHOXP� VHMDKWHUD��
PDVLK�EDQ\DN�NHOXDUJD�\DQJ�WHUJRORQJ�NXUDQJ�PDPSX�GDQ�WLGDN�PDPSX�
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